Name: ____________________________

If you have code that is 45% parallelizable, then what is the speed up factor if you use two cores (a speed-up factor of two for the parallelizable part)? What if you use four cores?  What is the limit (if you used an infinite number of cores)? 

If the amount of time originally (unparalle1ized) is 1 unit 

Then 

Two cores 

((1-.45)/1+.45/2) is the new amount of time 

Question is about speed. Speed have times in the denominator. 

 ((1-.45)/1+.45/2)^(-1) = 1.29 times faster for two cores
((1-.45)/1+.45/4)^(-1) = 1.51 times faster for four cores 
((1-.45)/1+.45/∞)^(-1) =  ((1-.45)/1)^(-1) = 1.82 times faster for infinite  cores
